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THEOREM A. Let I be an infinite class, and p and r positive integers ;
and let all those sub-classes of T' which have exactly r members, or, as we

may say, let all -combinations of the members of T' be divided in any

manner into u mutually exclusive classes C; t=1, 2, ..., p), so that

every r-combination is a member of one and only one C;; then, assuming

the axiom of selections, I' must contain an infinite sub-class A such that

all the r-combinations of the members of A belong to the same C..
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TrEOREM B. Given any r, n, and p we can find an mo such that, if

m = mg and the r-combinations of any T, are divided in any manner into
u mutually exclusive classes C; (1=1, 2, ..., p), then T',, must contain a

sub-class A, such that all the r-combinations of members of A, belong
to the same C;.
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Eziste-t-il une relation symétrique R, dont le champ E est non dénom- < -
brable, telle que dans tout sous-ensemble non dénombrable de E existent / L ﬂ //) / 4/ g” /
deur éléments différents a el f, tels que aRp, et deuz éléments différents y
et 9, tels que ynon RO, | & 3 3
Nous prouverons (i laide de l'axiome du choix) que la réponse y est \/
affirmative.
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11 me semble difficile & résoudre le probléme de M. KNASTER pour un champ £

dont la puissance est >X, (par exemple pour E—xg).
Or, il est & remarquer que:

Il n’existe aucune relation symétriqgue R, dont le champ E est infini,

telle que dans tout sous-ensemble infini de E il existe deur éléments différents

a et b, tels que aRb et deux éléments différents ¢ et d, tel que ¢ non Rd (*).




=S st piv sl ASkED

/ - 2 ‘)
@ P B
J L/wQé\// / c N\ A
— 7 = (X)),

) z
2" L (3
CA
U S (S, )7
2.

Theorem I : Liet a and b be infinite cardinals snch that b > a®. If

we split the complete graph of power b into a sum of a subgraphs at

least one of them contains a complete graph of power > a.

[n particular: If b > ¢ (the power of the continuum) and we split
the complete graph of power b into a countable sum of subgraphs; at

least one subgraph contains a non denumerable complete graph.
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Theorem I is best possible. As a matter of fact, if b = a* = 2% we
can split the complete graph of power b into the sum of @ subgraphs,
such that no one of them contains a triangle. For the sake of simpli

city we show this only in the case b = ¢ = 2¥.. We write

where G is a graph connecting every two points of the interval (0, 1),

1
and the edges of Gy connect two pointswand y if 57— >y - ? %

Clearly none of the Gy’s contains any triangjes.







